
             

Question Bank 
Grade 2 

Mathematics 
Chapter 3 – Addition and Subtraction up to 99 

 

A. Add the numbers. 
 

1. 5 3 2. 2 7 3. 1 6 4. 1 5 5. 4 3 6.  6 2 

 1  2    3  2    4  3    2  6    2  9    1  8   

                 6  5                     5  9                       5 9                      4  1                      7  2           8  0 

     

B. Sanu has 15 toffees, Rana has 11 and Manoj has 13. How many toffees do 
they have in all? 

 

Toffees Sanu has   15                

Toffees Rana has   11 

Toffees Manoj has 13 

Toffees they have in all 
39 

C. Subtract the numbers. 
 

1.   4 4            2.   2 6            3.      7 8          4.      7 3            5.     4 4           6.  5 2  

 2  4                 1  3                   4  3                5  6                 1  9             1  7 
                2 0                  1  3                      3  5                   1   7                   2  5                3  5 
     

 

D. Mira buys 70 red beads to make a decoration for her home. After making it, 
there are 17 beads remaining. How many beads did Mira use for the 
decoration? 

 

Beads Mira buys       
Beads remaining 
Beads Mira used for decoration 

 
 

T O 

         1         5 

         1                        1 

      + 1         3 

         3        9 

T O 

         7          0 

       - 1          7 

         5          3 

 



 
 

 

E.  Do the sums. 

1. Ravi collects 20 used books to donate to the village library. Sujay 
gives him 17 more used books. Renu gives him 12 books. How 
many books can Ravi donate now?  
 

 

Book Ravi collects 

Books Sujay gives  

Books Renu gives  

Books Ravi donates 

2. Sneha and Shreya collect 32 guavas from a tree in their backyard_. 
They give 12 guavas to their aunt. How many guavas do they have with 
them now?    

 

Guavas Sneha and Shreya collect  

Guavas they give their aunt 
 
Guavas with Sneha and Shreya now 

 

 
 

 

 

 

 

                               ___________________________ 

T O 

          2          0 

          1          7 

         +1          2 

          4          9 

T O 

      3               2 

     -1       2 

      2       0 

 

 


